
HEAT SUMMATION 4

FeSO4(s) −−→ Fe(s) + SO2(g) + O2(g) ∆Ho = ?

∆Ho = [∆Ho
Fe(s)+∆Ho

SO2(g)
+∆Ho

O2(g)
]− [∆Ho

FeSO4(s)
]

∆Ho = [(0 kJ) + (−296.8 kJ) + (0 kJ)]− [(−922.6 kJ)]

∆Ho = +625.8 kJ

FeSO4(s) −−→ Fe(s) + SO2(g) + O2(g) ∆Ho = +625.8 kJ

Q = −∆H

Q = −625.8 kJ/mol FeSO4(s)

CH4(g) + 2 O2(g) −−→ CO2(g) + 2 H2O(l) ∆Ho = ?

∆Ho = [∆Ho
CO2(g)

+ 2∆Ho
H2O(l)]− [∆Ho

CH4(g)
+ 2∆Ho

O2(g)
]

∆Ho = [(−393.5 kJ) + 2(−285.8 kJ)]− [−74.4 kJ + 2(0)]

∆Ho = −890.7 kJ

CH4(g) + 2 O2(g) −−→ CO2(g) + 2 H2O(l) ∆Ho = −890.7 kJ

Q = −∆H

Q = 890.7 kJ/mol CH4(g)

750 kg FeSO4 x
1000 g

1 kg
x

1 mol FeSO4

151.92 g FeSO4

x
625.8 kJ∗

1 mol FeSO4

x
1 mol CH4

890.7kJ

x
16.05 g CH4

1 mol CH4

x
1 kg

1000 g
= 55.7 kg CH4

* Please note that the sign has been dropped on the conversion factor for heat per mole of
ferrous sulphate. This is done for convenience. Heat energy is absorbed by this
decomposition reaction is provided by heat produced by the combustion of methane.


